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FA sEXE D
3 YIS Il
el =QlsE A0 & JjA (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 2,500
s 2,500
201 er23| 3,500 0 3,500
= 1,750
= 1,780
03 A2 I 3,500 0 3,500
Os&Efds2e HEHE Ws238 3,500
= 1,750
o 1,750
301 EtE NS 1,500 0 1,500
S 750
o 750
1 AREIXES 1,500 0 1,500
OsZE0d=sgel A us2g 1,500
= 750
= 750
SIIAH AMBIA 23t 1,484,080 1,620,534 136,454
= 246,200
& 71,260
= 1,166,620
SO A A 491,810 515,834 N24,024
101 @124H| 66,900 81,900 A15,000
M IRINZZENSE 66,900 81,900 15,000
OSIIHL UM A JIZEHMZ2 2 21 24] 66,900
—JIZFMZ2 2 Xt Q14|
2,000,000 «3E 112 66,000
221 II=H| & HHES F2H|
300,000 *3& 900
201 er23| 176,340 166,964 9,376
01 At2teltl 46,340 39,984 6,35
OsJA&elE SAHI
9,0002 x10A1+8E* 12 8,640
Og AL AIRd 28 RXI2
200,000 x40 2=+ 123 9,600
OHAIE A T2 |X|2el 3,500
OYUAIEA SIEED LXt=
50,0003 44 A+ 128 2,400
O A A HIOI Xtz
45,0003 41 A+ 128 2,160
OSUAIEA E=D| EXtE
55,0003 44 2= x 122 2,640
OdUAIEA 522 GXHE
60,0003 x4 » 10! 2,400
OsJIAH dHls &Hgs & ords 28
400,0002 *15H 6,000
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2A:

=EXE 4

3 YIS Il
=Rl SIIH MBIA 25t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OsJIH SUAE 222 M
1,000& 2,000 2,000
OgUsIIA 28 L
70,000 * 1002 7,000
02 s3=gHl 130,000 126,980 3,020
OYUAY sIIH |XI2==H|
75,000 =800CH 60,000
SIIH Se2g= 58,000
OZUAIY ST 28 |F4I
125,000& *4JH A+ 128 6,000
O0t=g = HR = - B
600 *10,000L 6,000
202 04l 3,600 3,600
01 SLHoIH 3,600 3,600
OsJIAH 2] B2 0]
50,0002 6~ 12 3,600
206 MH=H| 80,000 80,000
01 M=4l 80,000 80,000
OYUAY =IIH HHIREH|
100,000 »800CH 80,000
405 KHaHE SH 164,970 183,370 18,400
01 It =S F = 164,970 183,370 18,400
OSUAIY sII1H 7 164,970
—2ld| 3,080,000 *4CH 12,320
—=5F8X4) 6,450,000 ~6LH 38,700
—gER=F)| 1,100,000 2CH 2,200
—sE=20| 980,000 *4CH 3,920
—SZEISI| 35,000,000 1CH 35,000
—& X 7,130,000 *1CH 7,130
— &40 2,500,000 *3CH 7,500
— 330 18,400, 000 *3CH 55,200
—SIIH 22l 23 3,000
SIHSUAIE A gty 22,000 38,000 A16,000
401 Al HIZ 2018 22,000 20,000 2,000
01 Al&H| 22,000 20,000 2,000
SRUUAIE A 22510 U2 &1
12,000,000 * 10 2= 12,000
OAtZ A =2AIE e SA
2,500,000 *40H 2= 10,000
sIAHWS X 9,600 9,000 600
307 glztol & 9,600 9,000 600
12 22 W =FH| 9,600 9,000 600
O4g AEI[H HolHS AS WSH|
320,000 *60 2 *50f% 9,600
SO &= K& 8,400 10,200 21,800
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2A:

X XH -
o=

=EXE 4
SYMPS Jl=oHe

SRl SIIH Al 28t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

= 4,200
=S 1,260
s 2,940

201 fer=3| 2,000 2,180 A180
= 1,000
= 300
Ea 700

01 At 22|l 2,000 2,180 A180
OsgIIAH WS wiid] 2,000
= 1,000
= 300
= 700

202 048l 840 1,020 A180
= 420
= 126
= 2%

01 =LHAHI 840 1,020 A180
S8 us R 840
= 420
< 126
s 2%

206 MH=Hl 5,560 7,000 1,440
= 2,780
== 834
= 1,946

01 MHZH| 5,560 7,000 1,440
SIIH s M= 5,560
= 2,780
== 834
[Ea 1,946

2SI HHXA(=02EX) 200,000 227,800 A27,800
= 100,000
== 20,000
o 80,000

405 KHaHE SH 200,000 227,800 A27,800
= 100,000
S 20,000
o 80,000

01 T ESFISHI 200,000 227,800 A27,800
O===J1A Al X2 A 200,000
= 100,000
= 20,000
Ea 80,000
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2A:

=EXE 4

3 sgddnst Jisieg
=Rl SIIH MBIA 25t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SIOIHJHAIG (FAHX L2128 X&) 200,000 200,000 0
= 100,000
= 100,000
405 AtatE = 200,000 200,000 0
= 100,000
[Ea 100,000
01 ML ESFSHI 200,000 200,000 0
O L2IIAISH KA 200,000
= 100,000
s 100,000
sHY e Hge 29 347,270 331,200 16,070
101 @124H| 164,770 165,600 A830
M ORIMZZ2NSE S 164,770 165,600 2830
O=s&g Uig 224 22| 164,770
—SHYUHE JIZtHZ 2 A 2128|
2,835,000& 2 *11& 62,370
—Ss4Y RS SAIAS 21AH|
200,000 x10H 50 100,000
224 II=Hl & H8ES 2|
200,000& *12H 2,400
201 er=23| 114,800 104,900 9,900
01 AtR2te|Hl 3,800 500 3,300
Os&yg s FHd 28 =X
150,000 17 A+ 103 1,500
Osael (I8 U Hei= U oiXs 2
300,000 x2&H 600
O8d 2801 7/ & 82= M=%
300,000 %53 1,500
Osig U 283 & s8I us S
o MIE 40,0002 52 200
02 s3=gHl 111,000 104,400 6,600
Os&e e sI1H FAI22=H|
1,200,000 ~602! 72,000
Os&g U sIIH 28 *54l
1,300,000 *30CH 39,000
202 048l 2,700 2,700
01 2L AL 2,700 2,700
SAQ T RUCH 29 ADEA Ofy|
50,0002 x6H 0 2,700
206 M=l 65,000 58,000 7,000
01 M= H| 65,000 58,000 7,000
s&Y e sJ1H Edl 23|
1,500,000 30CH 45,000
OZAZE == i 2H=2S(Y, UE) 7Y
125,000& +1602 20,000
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2A:

=EXE 4

3 sgddnst Jisieg
=Rl SIIH MBIA 25t (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SsRoE Al KIZ A 105,000 105,000 0
= 42,000
= 63,000
101 @12A4H| 72,600 66,000 6.600
= 29,040
[Ea 43,560
04 JIZtNZ22 XS 2+ 72,600 66,000 6,600
OgsFat= MR 22Y 72,600
—2LAIANS Q12|
120,000 x4 H 150! 72,000
= 28,800
s 43,200
—22 A LISHl & HNES 7Y
300,000 x2&H 600
= 240
o 360
201 2= 18,400 21,200 A2,800
= 7,360
T 11,040
01 At2t2ltl 12,600 15,800 23,200
OQtEMIE s U QHEEE 1Y
200,000 +4&H 800
= 320
o 480
o2& s = =
300, 000& »302] 9,000
= 3,600
o 5,400
OgsR4tE el AlY 22X M
500,000& 42| 2,000
= 800
o 1,200
OgsFut=E tdXel 82 - uF s+ X
= 40,0003 »202] 800
= 320
e 480
2 352484l 5,800 5,400 400
OsJIH sE=28e 1,000,000 %12 1,000
= 400
= 600
OsJIA 28 =%l 300,000 6 1,800
= 720
s 1,080
OsIH RA=E= 300,000& *102] 3,000
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=M SEXNAD
HE: SMDE JlsHY

=Rl SIIH MBIA 25t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,200
s 1,800
202 04l 7,200 7,200 0
= 2,880
Ea 4,320
01 2L AL 7,200 7,200 0
OH=2A2 Ot YRET
100,000 6+ 122 7,200
= 2,880
o 4,320
206 MH=H| 6,800 10,600 23,800
= 2,720
= 4,080
01 MZH| 6,800 10,600 A3,800
OsJIA 8dl 23 200,000 252 5,000
= 2,000
Ea 3,000
OgsFiE S84 A0 U ME
600,000 *32] 1,800
= 720
Ea 1,080
sSHAUY ZHl X2 A 100,000 90,200 9,800
= 50,000
o 50,000
405 KHoHF S| 100,000 90,200 9,800
= 50,000
o 50,000
01 L ESFISHI 100,000 90,200 9,800
OBl H8l XA 100,000
== 50,000
o 50,000
HH2IBJH(sEXEL) 59,260 58,180 1,080
=38l 59,260 58,180 1,080
sEX&L =8| 59,260 58,180 1,080
201 er23| 20,520 19,440 1,080
01 AtR2t2|HI 20,520 19,440 1,080
O Letzgl| 16,165
EN =4l 9,000 x5954] 5,35
202 04l 26,160 26,160
01 2LHoIH 22,080 22,080
O oyl 22,080
02 A0 4,080 4,080 0
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A sSEXEL
. HY2IHH(sEXJA)
&l D122 (CH9: &S1)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
O=olateta FH0Y|
170,000 2+ 12& 4,080
203 PR =&IH| 12,580 12,580
01 J|22H PR FA| 5,500 5,500
OJ|2A2IHRFA 5,500
02 BRI A R Z=LIH| 2,160 2,160 0
SLEPIN-EES 40,0002 5424 2,160
M FA2IHRFALI 4,920 4,920 0
ORN2ZIHRFA 410,000& 122 4,920
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